Toric 03

Solve the following problems in the real domain.
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2cosx+1=0
[:I:%n—i—Zkﬂ]

(Bcosx +7)(—2sinx —1) =0
[—%n + 2k, %n + Zkﬂ]

(6tan2x —2)(2tan2x — 6) =0
[4 arctan £ + 1k, S arctan3 + 1k ]

sin2x = —sin(—x)
[k, :I:%n + 2k |

sinx + V3cosx =2
[17 + 2kn]

4sin® x + 4sin? x — 3sinx = 3
[%n + 2k, %ﬂ + 2k, %n + 2k, %n + 2k, %n + 2k
tan(—x + %) = V3
[—% +knl
2| cos x| = sin” x.
[+ arccos(v/2 — 1) + k7]
cos |x| = sinx
[%n + 2k, %n + 2k7r]
| sin x| = cos? x

[:l: arcsin(%(\/g — 1)) + kn]

sin |x| = cos x

[%Jr +2km, k > 0; %n + 2km, k > 0;—%71 +2km, k < O;—%n +2km, k < O]

In all cases we assume k € Z.



